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All the questions are compulsory. :

2. 7 WA feft = sieht T o forel weeme Y fever g
T WD 9o F 7 = wd i

If there is any error/difference/contradiction in Hindi or English

Version of the question paper the question of Hindi Version should
be treated valid.

WUE - 3 ( Séction-A )
o] Fmfvn e aret oim %1 am fafgm

Write the name of the organ that forms ovum.

2. wiael R yeER F W §R E2 : 1
What types of proteins are antibodies?
3. 3% Moed fem o= offg anvamg & orft st 82 "
Flying squirrel is found in which sanctuary?
A T wEEg yeiia w1 A fafeg) . 1
Write the name of one endemic species;
s/ﬁw%ﬁmﬁmaﬂmﬁqgam%? 1
Which antibody passes through placenta and reaches to embryo?
6, STHE % URT F A T fafaw) T
A Write the scientific name of opium plant.
7.  eTEERTERA ® IUPAC M fofaw) - 1
Write the IUPAC name of Iso-octane.
8,7 W& 9% W 20N 5 @ W 5% 15m farafn € vt 81 e m

HG =t O i | 1

A body gets displaced by 15m when a force of 20N acts on it.

Find the work done.
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9./ waifus WA T od 1 A fafan |
Write the name of most proteinful pulse (DAL).
uy S 3 2RA e R A wEer fafae (FE 0)
- @ug - T ( Section-B)
11. Yo ¥ e o1 Wity 3oi Ffee )
Describe the Earth’s core briefly. }
12/ Hare =t a1 7w fora fafu & am o wd €2
By which method we can know the age of Fossils?

13 T 10 S B O & g S R R A R €2

During the launch of Pioneer-10, why were the scientists scared?

}r._ EreanicTu ealeite) g

Define vulcanization.

15 caco, ™ Wﬁf He2) Caorcot
Sritae sifufran fFa waR @1 87 W fad qun v

?/ g & o § AR % EEEE

xplain the contribution of Sushruta to science.
1277 CNG 3R S o9 # LPG ¥ 4= =4 32
Explain why CNG is better fuel than LPG?

18,2 o T we T Y @ F e
What is the benefit of applying helmets when driving two-wheelers?

*:;/ TSI o | 3 a1 wEE ¥
What do you understand by sustainable development?
20 (3 T T T 51 FHRW T § 7
' (i) O g S@ F T o e =fee?
(i) What is the reason of fatty liver disease?
il) What should be the qualities of drinkable water?-
@UE - ¥ ( Section-C)

2. Y 319Y TW/AEee B AU WEE ¥ - S 2 (FE

Write the precaution taken during blood transfusion. (Any one)
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2.
What is the type of above reaction? Name and explain the reaction.,

2

2

2

C1+1=2

<

Lig)E . 141+1=3
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What steps would you take for the w

??)[(}:‘:'faw a diagram of pH scale,
1) Give examples of two strong acids and two
25. T TG A it 1 ek soumfsﬁ: ¥ % Fremt su‘gl:gtrbﬁﬁ%m
FHHM 100 T € 4 S T S g i 3
The velocity of a bullet fired from a gun is 500m/s. If the mass of
. the bullet is 100gm then calculate its kinetic energy.
' . U8 - T ( Section-D )
1:2/ (1) Softshm seer 1 ftwe fora 3 gu gea whady =0 sravas
3 werfd i 14242=5
(ii) e 72 forge wfwer § A= B fag ¥ ner goa Ry 93|
(i)  Describe the relation for equivalent resistance in series com-

bination with the help of'a diagram. : . . . : :
(i) Determine the equivalent resistance between the ends A (i) Draw a ray diagram which shows location of image. When

and B of the given circuit. : an object is placed between centre of curvature and focus
2Q 20 o of the conecave mirror. ' [+1+3=5
NS N A N
. 0 fﬂ B | amaT (OR)
DN NI (i) . e gfie A A o T ¥2 TR AR e o 2

27 _A4%) e A ¥ vy diew ) vl #) fafew o e e T A S 21, 3
/&).x,yﬁ?z@ﬂﬁtﬁ?{%ﬁm%ﬁmm%m&inWW? (i) T IqA o= . . ¥

i aste management in your ’ (i) Draw a labelled diagram of human heart.
village/colony? (any three) - . . =5
e st 3 ; (i)  Expldin the functioning of the human heart. 243=5
.aﬁﬁﬁ:cient'? - fT - ! 1413 )/ YT (OR) -
e names of three plants of medicinal importance, G i P |
2 T R ; 3 i)/ I 9= 13 6 i o 9
/%Eml;liicndevﬁ]mﬁ Fﬁﬁ ! -3 (i) srmrerg § e o e R |
2jp/ (i;] H =hd =1 1;-; Wmﬂfsegregatmn with an example. () Draw a labelled diagram of human digestive system.
' (ii )pﬂ 3T U ! . 3 (ii)  Explain the digestion of food in the stomach. ) 243=5
1) S ER 3Tl U <) e & 3 sere i 29" e fafium & anftfe wew wd sl e ! G

Explain the economic value and medicinal value of biodiversity.
aterat (OR )

ﬁaﬁﬁwm#-mm%amﬂﬁﬂmm
Explain the any two reasons responsible for the biodiversity
reats. rbseonline.com | 2V4+2Y5=5
30/ (O g gfe Qw7 go freww 3 fR e R?
@) v O o e SO ¥ Tkl e U WiE % o
o & @ Freor fem gr wifara w1 fearfa Toisd)

(i)  What is hypermetropia? How it is corrected?
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e =t feafd = feror fom w2 |
¥ &l 2 1 YT R 39 ¥ 7 y I WK = g
(i)  Write the hypothesis of Neils Bohr’s atomic model. (i)  What do you understand by myopia? How it is corrected?
(i)  x,yand zarethe element of Dobereiner’s triad, if the atomic (i)  An object is placed between infinity and 2f on principal

weight of x is 7 and that of z is 39, what would be the atomic axis of a convex lens. Show the position of image using a

i ? 2= ' -
M ;i;gh%f%wﬁamml 32 . ray diagram., 14143=5
- (i) W T T B e e
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